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The issue here is not whether gravity attracts differing weights and densities uniformly. That is elementary. The issue is: Is it Newtons Law of Universal Gravitation (the gravitational force of the mass) or is it F = a.A, the correct interpretation of Kepler’s Third Law as proven by Pari Spolter in her book, “Gravitational Force of the Sun”?
We know that the gravitational attraction of Earth is 32 ft/s^2 but we have always been told that the attraction is due to the mass/density of the Earth.
The density of the Earth is allegedly 5.5 gr/cm^3 which is unrealistic in itself seeing as how the crust is between 2.6 and 2.9 gr/cm^3 and the ocean, which comprises 71% of the earth's surface is 1.02 gr/cm^3 which means the heaviest elements have to be at Earths core which begs the question 'why didn't the heavier elements migrate to the outer layers in the past 5 billion years of rotation? This is inconsistent with the law of sedimentation in a centrifuge. Also, heavy elements are rare in the universe. How could so much of materials with such low stellar abundances have concentrated in the earth's interior?
Something is fishy here.
But lets go ahead and use the mainstream science value for the density of Earth anyway.
A report by Richard H. Rapp, "An Estimate of Equatorial Gravity from Terrestrial and Satellite Date," Geophysical Research Letters 14 (1987:pp. 730-732), gives the terrestrial equatorial gravity ge equal to (978032±0.2) x 10^-5 m s^-2.
Putting these values together using F = a.A (the correct interpretation of Kepler's Third Law) we get the gravitational force of the Earth of 1.25 x 10^15 m s^-2 m^2.
The gravitational force of the Earth calculated from the mean orbital velocity, v, and the semimajor axis of revolution, r, of the Moon and other Earth orbiting and some of the artificial Earth satellites, using the equation Fe = a.A is identical: 1.25 x 10^15 m s^-2 m^2.
(Data for artificial satellite are from the RAE Table of Earth Satellites 1957-1982 New York: John Wiley & Sons, 1983)
However using either of Newton's equations, F = ma = m(v^2/r)or F = GMm/r^2 yield different values of the gravitational force of the Earth ranging from the Moon, 1.98 x 10^20 kg m s^-2 to ERS 12, only 0.2 kg m s^-2.
The significance of this disparity is that Newton's Law of Universal Gravitation and the gravitational constant based on Cavendish values, and estimated densities (Newton claiming mass/density causes gravitational attraction) cannot be correct when compared to Kepler's Third Law, r^3/t^2 and it's correct interpretation F = a.A.
In fact, the significance is that it shows Newtons Law of Universal Gravitation is wrong, so is the gravitational constant and with these facts so is Einstein's Theory of Relativity.
 

